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QUESTION 1

Scenario: A Citrix Administrator has a NetScaler SDX appliance with several instances configured. The administrator
needs one instance with two interfaces connected to forward packets that are NOT destined for its MAC address.
Hence, the administrator has enabled Layer 2 mode. After enabling Layer 2 mode, the administrator found the interface
status going up and down.

What can the administrator perform to resolve this issue?

A. Disable Layer 2 mode on a NetScaler instance.

B. Enable tagging on all interfaces.

C. Enable Layer 3 mode along with Layer 2 mode.

D. Enable MAC-based forwarding mode.

Correct Answer: B

QUESTION 2

Scenario: A Citrix Administrator has executed the following command:

set httpcalloutl -cacheForSecs 120

What will be the effect of this command?

A. The cache duration of the HTTP callout response is set to 120 seconds.
B. The cache duration of the HTTP request is set to 120 seconds.

C. The cache duration of the HTTP response is set to 120 seconds.

D. The cache duration of the HTTP callout request is set to 120 seconds.

Correct Answer: A

QUESTION 3

Click on the "Exhibit\\' button to view the screenshot of the command-line interface.
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>

> add cs policy CS1 Pol —rule “http.REQ.URL.PATH. CONTAINS (\"urll\"”) "

Done

> add cs policy CS2 Pol —rule HTTP.REQ.IS VALID

Done

>

> add 1b wvserver LB vserverl HTTP 0.0.0.0 0 —persistenceType NONE —state DISABLED —
cltTimeont TR0 o

Done

> bind 1b vserver LB vserverl Servicel

Done

>

> add 1b vserver LB vserver2 HTTP 0.0.0.0. 0 —persistenceType NONE —cltTimecut 180
Done

>

> add 1b vserver lb vsrv www HTTP 10.107.149.229 80 -persistenceType NONE —cltTimeout
180

Done

> bind 1b vserver 1b vsrv www servicel?2

Done

>

> add cs vserver CS LB HTTP 10.107.149.233 80 —cltTimecout 180 —precedence URL

Done

> bind cs vserver CS5 LH —policyName C51 Pol —targetlHVserver LH vserverl —priority 100
Done

> bind es vserver CS5 LB —policyName CS2 Pol —targetLBVserver LB vserver2 —priority 110
Done

> bind es vserver CS LB —lbvserver lb vsrv_www

Done

>

>

How will the HTTP request "http://10.107.149.233/urll" be redirected based on the screenshot?
A. The request will be dropped at CS vServer.

B. The request will be sent to LB_vserver2.

C. The request will be sent to Ib_vsrv_www.

D. The request will be sent to LB_vserverl.

Correct Answer: A

QUESTION 4

Which step can a Citrix Administrator take in order to use the default compression policies?
A. Bind the default compression policies to the virtual server.

B. Disable the NetScaler Compression feature at a global level.

C. Select the compression algorithm (gzip/deflate/identity).

D. Enable compression on the associated bound services.
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Correct Answer: A

QUESTION 5

Scenario: A Citrix Administrator is managing a NetScaler SDX running eight NetScaler instances. The administrator first
needs to upgrade the firmware on the instances. However, the administrator is concerned that it needs to be done all at
once.

What upgrading flexibility does SDX provide in this scenario?

A. The NetScaler instance can be upgraded at the SDX management level, allowing all instances to be upgraded at
once.

B. It is NOT possible to upgrade the NetScaler instances to different firmware versions.

C. The NetScaler instance can be upgraded on an individual basis, allowing all instances to run different firmware
versions.

D. The NetScaler instances have to be upgraded at the same time.

Correct Answer: D
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